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Supply and demand.
@ PPLY

& The weekly supply and demand equati i
quations for packages of computer disk
by Software Supplies, Inc., are : ° HERLORE
Supply: -5p+q=-71
Demand: -2q + p =34
:?V]tl)ere p lSl _th; ll))rice in dollars per package and q is the quantity in thousands of packages
obe : e : 5
o thatSlIl,ll)-iI:; :.3 . Determine the equilibrium price and the number of packages that will sell

@ Solving a problem about two unknown numbers.

The two top-selling Disney videos in a recent year were Toy Story and Pocahontas.
Together they sold 38 million copies. Pocahontas sold 4 million fewer copies than Toy

Story. How many copies of each title were sold?




Solving a problem about quantities and costs.
The average movie ticket (to the nearest US dollar) costs $10 in Geneva and $8 in Paris.

If a group of 36 people from these two cities paid $298 for tickets to see The Rookie,
how many people from each city were there?

7.\
\C (\) Solving a mixture problem involving percent.
How many liters of 25% alcohol solution must be mixed with 12% solution to get 13L of
15% solution?
[ o S
G—“’j Solving a problem about distance, rate and time.

In one hour Ann can row 2 mi against the current or 10 mi with the current. Find the
speed of the current and Ann’s speed in still water.

|

é_’)(x 7




(or&{g\r\\'ng o \V\fj!}udikﬂ}

\.
2

@ U&x-k%ujJ-ol

M

-Unith

LnYOrsecnion
TR

o D 4oz
@ (D‘FCL@\(‘ 4&%534C\ ond O \

~ Z -l
@ Solue e sysrem 3 Ff;ﬁ

=
J

P32




